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RIER O R IRXEGHE

A3 —2 BEYIERIHEBESNSEHEICETHEIEN/1) | _HEFE | BHIEE
[ SlERHhOME | EmEs 2I5BN2272 | @ | JITFA [ s | i L RIR
] SMERHO FTinICBEET ST SMERH KN
i LREOBBNBIEADKRES LREORRBELADKES LREOBHOBSENDRES LREDEBRBILNDRES
7 100kN/mM#E#BZ5 | 1.00 | 000 ~ 204 131.60 |3mZ#BAB| — ~ — — — | 100kN/m%#82% | 1.00 | 11.21 ~ 2236 131.60 |3m%E#BZ% - ~ — — —
zhLst 1.00 204 ~ 983\ 100.00| Fhs | 000 ~ 983|251 13.42 zhLst 100|500 ~ 1121 100.00 | #nLst | 6.00 ~ 2236 2.51 13.42
2 100kN/m%#8%z% | 1.00 | 000 ~ 266 141.91 |3mEBZ%| — ~ — — — | 100kN/m%#82% | 1.00 | 1053 ~ 2258 141.91 |3m%E#BZ% - ~ — — —
Zhst 1.00 | 266 ~ 1045 100.00 | st | 0.00 ~ 1045| 2.73 14.59 zhLst 1.00 | 5.00 ~ 1053 100.00 | #hst | 5.00 ~ 2258| 2.73 14.59
3 100kN/m##8%z% | 1.00 | 000 ~ 247 13861 |3m%xBZ%| — ~ — — — | 100kN/m%#82% | 1.00 | 11.22 ~ 21.64| 138.61 |3m%E#BZ% - ~ — — —
Fhst 1.00 | 247 ~ 1025 100.00 | FThLst | 000 ~ 1025] 2.95 15.79 zhLst 1.00 | 6.00 ~ 1122 100.00 | TS | 6.00 ~ 2164| 2.95 15.79
p 100kN/m##8z% | 1.00 | 000 ~ 219| 134.08 |3mE{Bz25| 0.00 ~ 0.02| 3.01 16,11 | 100kN/m%#Bz5 | 1.00 | 11.58 ~ 2059 | 134.08 |3m&E#BZ 5| 2000 ~ 20.59| 3.01 16.11
zhLst 1.00| 219 ~ 998\ 100.00| Fhis | 002 ~ 998 3.00 16.05 zhLst 1.00 | 6.00 ~ 1158 100.00 | FnLS | 5,00 ~ 20.00| 3.00 16.05
5 100kN/m%#8%z% | 1.00 | 000 ~ 1.48| 122.60 |3m%xBz%| — ~ — — — | 100kN/m%#8=2% | 1.00 | 1321 ~ 1953 12260 |3m%E#BZ% - ~ — — —
zhLst 1.00| 148 ~ 927\ 100.00| Fhis | 000 ~ 927|280 14.98 zhLst 1.00 | 500 ~ 13521 100.00 | #nst | 6.00 ~ 1953| 2.80 14.98
P 100kN/m%#8%z% | 1.00 | 000 ~ 289 145.756 |3m&xBZ%| — ~ — — — | 100kN/mM%#82% | 1.00 | 1093 ~ 2448 145.75 |3m%E#BZ% - ~ — — —
Zhst 1.00 | 289 ~ 1067 100.00 | #hst | 0.00 ~ 1067| 2.89 15.48 Zhst 1.00 | 6.00 ~ 1093 100.00 | #hst | 6.00 ~ 2448| 2.89 16.48
- 100kN/m%#8%z% | 1.00 | 000 ~ 289 145.756 |3m&xBZ%| — ~ — — — | 100kN/mM%#82% | 1.00 | 1093 ~ 2448 145.75 |3mE#BZ% - ~ — — —
Tt 1.00 | 289 ~ 1067 100.00 | TS | 000 ~ 1067] 2.89 15,48 FhLst 1.00 | 6.00 ~ 1093 100.00 | TnS | 6.00 ~ 2448| 2.89 15.48
3 100kN/mM%#825 | 1.00 | 000 ~ 254 139.91 |3mZi#BAB| — ~ — — — | 100kN/m%E#BZ25 | 1.00 | 1096 ~ 21.70| 139.91 |3mE#Bz% -~ — — —
zhst 1.00 | 254 ~ 1033 100.00| TS | 000 ~ 1033] 2.54 1361 Thilst 1.00 | 500 ~ 109 100.00| FnS | 500 ~ 21.70| 2.54 13.61
100kN/mMZ#2Z % ~ ImEBRD ~ 100kN/ MZ#BZ % ~ 3mEBZD ~
Ths ~ Ths ~ Ths ~ Zh s ~
100kN/mM%#8Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ 3mEBZ D ~
Ths ~ Ths ~ Ths ~ Zh s ~
100kN/mM%#8Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ 3mEBZ D ~
Ths ~ Ths ~ Ths ~ Zhusn ~
100kN/mM%#8Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ 3mEBZ D ~
Ths ~ Ths ~ Ths ~ Zhusn ~
100kN/mM%#8Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ 3mEBZ D ~
Ths ~ Ths ~ Ths ~ Zh s ~
100kN/M%#8Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ 3mEBZ D ~
Ths ~ Ths ~ Ths ~ Zh s ~
100kN/mM%#8Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ 3mEBZ D ~
Thst ~ Thst ~ ZThst ~ Zh s ~




